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1. ���.& 

 
1.1 4.��������!�����50J RRIM 600 *��0 14 �U �"�� � 108 4.� 
1.2 �N��F!��G�= ���3*�/3 � 
1.3 -0��3�!4(' 
1.4 4+)*�'���  
1.5 ) �F'.  
 

2. �&��
�$ 

 
2.1  �0�*0�'�:J ��*�4��'��,G3)*��8"�6�3"�4.� (Sapflow sensor �0=� PSU-NRC) 
2.2  F14�4*���)��� 12 7 34J  
2.3  ! =��,MMN� �*'! =�� F3+*0�'�:J!"�G��1'���"��=*� 
2.4  �0�*0�'�:J ��$�'�J�8"�6�61 
2.5  �0�*0�'�:J ���=���'�"���'61 
2.6  �0�*0�'�:J ����(��:F!��*'/6�����0=� 
2.7  �0�*0�'�:J ��� ����8�6��(� 
2.8  �0�*0�'�:J!"�G��1'�� �� ��=� ,�.1����� � *�J�����J !�� �� 43�1��4� 
2.9  �0�*0�'�:J'�������8"�G��' 
2.10 �0�*0�'�:J'���'T1F3+*1�8"���� ��=� 49.*1 -. �!F4��3! -���3�!4(' 

        2.11 '3.*��03���$�J*(�3T�4�*�F11!=*�'��� 
2.12 *0�'�:J'��-=��H�� 
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3. ��%��	
�.��� 

 
'����3*���8����'����3*�6�F�3�! ��������!�����50J RRIM 600 6�.�+�+�39'      

(3 x 7 ��4�) ����"�'����r�'���F3.  (*��0 14 �U) )*�!-��� (���F3+O�'H��!������� �:+
������'�5�����4( �G� (���3��!�)3����(���J *.���� �.!�)3� ��(����3*����*�403��� 2548  
  ��F2�'����3*�F11!0=�!�19�:J (CRD) 7����'��!0=�F11 Stratified Sampling 
Method �"�� � 3  !(����3*� (treatment) �� 3 �+��1)*�'��6G.�8"� ��* 
    T1 : ,�=��'��6G.�8"� (control) 
 T2 : 6G.�8"� 100% )*���(��:'��6�.�8"�)*���� (1.00 Crop evapotranpiration) 
           T3 : 6G.�8"� 50% )*���(��:'��6�.�8"�)*���� (0.50 Crop evapotranpiration) 

�"�'����3*� 3 D8"� 6�F4=3+F�3��=*�6�.4� *�=��4.������������'T1).*�93�"�� � 12 4.� 
� ���8�!(8� 108 4.� ��'��6G.�8"�7��'��6�.�(�(!��(��'*�J)�����$�� 2 ��4� 1�(� :64.����0=�����*6G.
��$��)*�'��6G.�8"��3*1�30�1�(� :��'��'���!0�  

 

- 0	�
�/	��	
18��6�	 ���	��	
	 ��'!94� 
ETc = Kc x ETp    

����*   
ETc = '��6�.�8"�)*�������4.*�'�����1 (�(33(��4�4=* ��) 
Kc   = !����+!(�5(�'��6�.�8"�)*�������� (Allen et al.,1998) 
ETp = ��(��:'��6�.�8"�)*����*.��*(� DE�������=�*�4��'������+�G� (�(33(��4�4=* �� 
           ��'-���+�G� 
... ��(��:�8"����4.*�6G.4=*4.�4=* �� (3(4�) = ETc x πr2  ����* 
r = ��$������0=� 7�� ����$������0=���'�($4+ ��**' � 4+ ��4' ,   �G��* � 64. F3. G�

�=��L3���)*���$�� 
 

 
 
 
 
 



 14 

3.1 #:��	<4
��
�	��
���6�	��7�� ����	
���	��	
	 

 

3.1.1 #:��	�	
��.�
���
�� ���7��6�	 <.��	
�7��.2.���������&��

#�$����?�

��

-���7���
	. 

 
6�.! =����*!"�G��1���+4� *�=�����8*,�.��'3"�4.������������+��1!9� 130 

�D�4(��4���'��8��(� 7�����+����+��1� ��3E'��'' =���$��)*�3"�4.� �"�4� *�=�����8*,�.6�!= �
)*�'�+��8 (3*'��3�*'F3+F'=�,�.**') F1=����� 5 != �!= �3+ 1 �D�4(��4� 4��� ��3E')*�
���8*,�. �+,�.����+��1� ��3E' 10 20 30 40 F3+ 50 �(33(��4���'��3�*',�. F3. �"�,�F�=6�
!��3+3�� FAA (���3+�*���6�H��2� ')���*0:GH9�(G.*� ����*��'%�!H��F3+� ������ (4)*�
�D33J ����� 3� 7  �� ��'��8��"�4� *�=���).�!9='�+1 �'���E��8"�**'��'�D33J (dehydration) �. �
F*3'*y*3J� ���).�).� 4 �+��1 ��* 70 80 95 F3+ 100 ��*�J�DT�4J 7��F�=4� *�=��F*3'*y*3J
�+��13+ 2 ���8�K 3+ 3 ��� 7�� ��(����'� ���).�).��.*�,���' �"�4� *�=�����'3=� ,��"�6G.FG.�
�. ������*��"�4� *�=��6G.FG.� (CPD) ��'��8��"�4� *�=��4(�1� stub F3+�"�,�L�1�. ��*�6G.
4� *�=����� ���"�,MNMN� (����*6G.!�:#�:��'�*6�'��!���'4H����������) F3+�"�,�!=*��. �
' 3. * � �0 3 � � � $ �J  *( � 3T � 4 � * � F 1 1 != * � ' � � �  ��� $9 � �J � � ��� * � �� *  ( � � � $ � ! 4 �J 
�G� (���3��!�)3����(���J����*$E'%�)����!.�2=��$9��J'3��F3+� ��G��F�=�)*��=*�8"� )*�
'�+��86�3"�4.������������+��1� ��3E'4=��K 7��6�.'"�3��)������ 50 F3+ 300  

 
3.1.2 #:��	
�.��4�	/�:�����0/	��/1��	
�@�0����.8&.�&��
�$�	
��.��

	�	
�0�    

 ���6�	1���	
�� 

 
4(�4�8������*� ��*�4��'��,G3)*��8"�6�3"�4.� ����+��1� ��!9� 130 �D�4(��4�

��'��8��(� (H�����  3) 6�.! =��,MMN�F3+�*'! =�����+3"�4.�4��F� *0�'�:J�"��=*�����
F� )���'�13"�4.� 7�����+����($�G��*F3+�($64. 7���/'G�  ������+��1� ��3E' 10 20 F3+ 30 
�(33(��4���'��3�*',�. �"�'��4(�4�8��0�*0�'�:J ��*0:GH9�( 4=*!���= �,���������*�1���E').*�93 
F3+F14�4*��� !���'����'�����*�1���E').*�93 7����'��!���'��6G.F14�4*����3=*�'�+F!,MMN�,����
4� !=�� ���.*����8�3+ 10  (���� F3+1���E').*�93�0'K 15 ����  
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!=�-=��).*�93**'��'�����*�1���E').*�93 7��6�.�*��( �4*�J��(��'�� �).�!9=
7��F'�� PCPLUS �=����,�.��''��-=��).*�93�+�����=�*�4��'��,G3)*��8"�6�3"�4.� 6�F4=3+
�= �� 3���G�= �����3(4�4=*��� 7�� 

 
3.2 4�	/��/���%$
�0�7	���

	�	
�0� ���6�	 �,	��	�	# �
�/	�-�� -���	



�������	��
�
����	 

 

3.2.1  ��/2���6�A	�1��	
�
�����	
4�	���47	��

	�	
�0� ���6�	1���	
�� 

 
-  ��)����!.��*1 �)*�4.���������"�� � 5 4.� ����*����4.�4� F��

�"�� :G�)����!.�2=��$9��J'3��3"�4.� 7��6�.!�� �� ������+��1� ��!9� 130 �D�4(��4���'
��8��(� 

-   ��� ��G��)*���3�*',�. '�+��8 F3+F'=�,�. 7��'��6�.! =�����+6�!= �
)*�3"�4.����+6G.���+��1� ��3E'��'' =���$��)*�3"�4.� ����+��1� ��!9� 130 �D�4(��4���'
��8��(�  

- ).*�93���'3=� �������).*�93��8�&����+'*1'���"�� :'�� ��*�4��'��,G3
)*��8"�6�3"�4.� 

- G��=� volume fraction )*��8"� F3+���8*,�. 
    ���+4� *�=�����8*,�.��'3"�4.�7��6�.! =����* �"��L��+!= ��������'�+��8 

1���03�6�) �)����3T' ����*�N*�'��'���+�G��8"���'4� *�=�� ��'��8��"�'�+��8,�����G�
�8"�G��'!� (Wf) �8"�G��'���8*,�.6��8"� (Wi) F3+�8"�G��'FG.� (Wd) �"�� :�=� volume fraction 
)*��8"� (Vh) F3+���8*,�. (Vw) ���!94� 

                                                     Vh = (Wf-Wd)/Wi 
               Vw = Wd/(1.53×Wi) 
  1.53 ��* specific gravity of wood constant DE�����=������6�,�.���8*F)T�F4=3+��(� 
(Edward and Warwick,1984)  
  - G��=��8"�G��'!� (Wf) (fresh weight) 7���"�!= �)*����8*,�.���,�.�����8"�G��'!� 
  - G��=��8"�G��'���8*,�.6��8"� (Wi) (immersed weight) 7���"�!= �)*����8*,�.�������
�8"�G��'!�,�F�=6��8"�DE��1���06�1�'�'*�J)����3T'F3+�����8"�G��'���8*,�.6��8"� 
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  - G��=��8"�G��'FG.� (Wd) (dry weight) 7���"�4� *�=�����8*,�.*1���*0:GH9�( 80 
*�$��D3�D��! ����� 3� 5  �� F3+�"��������8"�G��'FG.� 
 

3.2.2 4�	/��/���%$
�0�7	���

	�	
�0� ���6�	 �,	��	�	# �
�/	�-�� -���	



�������	��
�
����	 

 

3.2.2.1 �,	��	�	# 

 
1���E').*�93*040�(�� (����+G =��'����3*� ��+'*1�. � ��(��:

�8"�O� *0:GH9�(!9�!0� - 4�"�!0� �=�'���+�G��8"� F3+� ����8�!�����5J6�*�'�$ ��'!-���4� �
*�'�$)*�'��*040�(�� (���)*�!-����*G�!J 4. �*G�!J *. G��6G#= �. !�)3� 4�8�F4=���*�
�'����-E����*�'�'i��� 
    

3.2.2.2 �
�/	�-�����/1��
��&7/  

 
-  ����(��:F!��*'����0=� �"�'�� ��7�� light meter 6��= �� 3�

4�8�F4= 8.00 � 16.00 �. 7���"�'�� �� �0'K 2 ��� 7�� 
-  ����(��:F!�6�����0=� 1���E'7�� HOBO light DE���"�'��1���E'

4(�4=*'��6��= ����*�������-E����*�'�'i��� 
 

3.2.2.3 ��

	�	
�0� ���6�	1���	
�� 

 
4(�4�8��0�*0�'�:J'�� ��*�4��'��,G3)*��8"� (������3+�*���).* 3.1.2) 

7���"�'��4(�4�8�6�4.�������������'�����'��'��6G.�8"����F4'4=��'�� 6�F4=3+!(����3*� 
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3.2.2.4 �	

�������	��
�
����	 

 
�'T1).*�937��'��!0=��'T161���������'4.����6�.����4� F��D8"�3+ 1 

4.�6�F4=3+!(����3*� 7���3�*'!0=��'T161��!3�������F!�F��!=*�-E� �"�'�� ��6��*1 ���0'K 2 
��� 7�� 4�8�F4=� 3� 8:00-16:00 �. )*� ������"�'��$E'%� 7����'��$E'%��=�4=��K �����8 

- �=�$�'�J�8"�6�61 7��6�.�����*� Pressure chamber 
- �=�'����'�"���'61 7��6�.�����*� Porometer �0=� AP4 (Delta-T, UK)   
- �=�� ����8�6��(� 7��6�.�����*� Neutron Probe 

 
3.3 4�	/��/���%$
�0�7	���

	�	
�0� ���6�	���C�C��
�6�	�	� 

 

3.3.1 ��

	�	
�0� ���6�	1���	
�� 

 
4(�4�8��0�*0�'�:J'�� ��*�4��'��,G3)*��8"� (������3+�*���).* 3.2.3.3)  

 

3.3.2 C�C��
�6�	�	� 

 
- �8"����!� �+��'�������8"�G��')*��8"����!��0'���8�G3��'��� 7��6�.�+11 

'�����E��3"�4.� ��� .� �� (1/2S. d/2)   
- ��*�J�DT�4J���8*���FG.� (DRC) ����*,�.�8"����!� ��'��8��"���G� 

��*�J�DT�4J���8*���FG.� 7��'���"��8"�������'���,�. 10-15 �(33(3(4� (m1) 2!��8"�'3��� 10 �(33(3(4� 
F3+'���8"�!.� (2 ��*�J�DT�4J) 15 �(33(3(4� 3�6�-. �!F4��3! ��6G.�).�'�� 2E��6G.!��2!�FG.� 
��'��8��"��).�49.*1���*0:GH9�( 70 *�$��D3�D��! ��� 24 ��� 7�� �"��������8"�G��'FG.� (m2) 
�"�� :G��=���*�J�DT�4J���8*���FG.� ���!94� 

                        DRC = (m2 �100) 
            m1 
 

- G�� ��!�����5J�+G =��*�4��'��,G3)*��8"�F3+2323(4�8"���� 7��'���"� 
�=�*�4��'��,G3)*��8"�F3+2323(4�8"����!� ��!�.��'��M� ��!�����5J�!.�4��)*���8� 2 �=� ��'
).*�93�8"����!����,�. 



 18 

                   
 

    
 
,	���� 3 '��4(�4�8�*0�'�:J'�� ��*�4��'��,G3)*��8"�6�3"�4.� (Sapflow sensor)  

�0=� PSU-NRC )*�4.��������6�F�3���3*� 


